IX - (b)

RIDE State Aid School Housing Aid Capital Entitlement

FY10	\$	57,414.00
FY11	\$	99,593.00
FY12	\$	52,383.00
FY13	\$,
LITO	Ş	104,272.00
FY14	\$	104,604.00
FY15	\$	121,306.00
FY16	\$	376,798.00
FY17	\$	335,310.00
FY18	\$	112,320.00
FY19	\$	123,915.00
Total	\$	1,487,915.00

	\widetilde{x} x x x y

4/8/2010 1:21:13 PM Report RH0R07_2004 Official FY2010

District: East Greenwich (09)

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
913	Α	.00	.00	.300000	\$1,830,000	\$549,000	10	\$54,900	\$4 ,941	\$59,841
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$4,653	\$17,129
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$4,591	\$16,902
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$3,297	\$12,137
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$2,696	\$9,924
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$8,745	\$32,191
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$1,009	\$3,038
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$11,911	\$35,862
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$3,506	\$10,557
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$4,362	\$13,134
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$12,943	\$17,544
		1	otal for I	3onds -	\$7,783,685	\$2,441,586	,	\$165,605	\$62,654	\$228,259

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:	
10849	Α	.00	.00	.300000	\$191,380	\$57,414	1	\$57,414	\$0	\$57,414	
		7	otal for (Capital	\$191,380	\$57,414		\$57,414	\$0	\$57,414	
		Total for i	East Gree	nwich	\$7,975,065	\$2,499,000		\$223,019	\$62 654	\$285.673	

4/13/2011*11:36:42 AM Report RH0R07_2004

Official FY2011

District: East Greenwich (09)

			_
E		D	Bonds
	men	EM.	DOMES

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$4,321	\$16,797
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$4,264	\$16,575
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$3,062	\$11,902
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$2,503	\$9,731
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$8,120	\$31,566
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$937	\$2,966
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$11,060	\$35,011
10783	A	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$3,256	\$10,307
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$4,051	\$12,823
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$2,125	\$6,726
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$54,653	\$132,131
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$7,243	\$9,455
			Total for	Bonds	\$9,704,757	\$3,017,908		\$190,395	\$105,595	\$295,990

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid;	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
11096	Α	.00	.00	.300000	\$331,978	\$99,593	1	\$99,593	\$0	\$99,593
		7	Total for Capital		\$331,978	\$99,593		\$99,593	\$0	\$99,593
		Total for	East Gree	enwich	\$10,036,735	\$3,117,501		\$289,988	\$105,595	\$395,583

3/13/2012 1:41:15 PM Report RH0R07_2004 Official FY2012

District: East Greenwich (09)

Project lumber:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$3,969	\$16,445
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$3,916	\$16,227
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$2,813	\$11,653
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$2,300	\$9,528
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$7,459	\$30,905
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$861	\$2,890
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$10,160	\$34,111
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$2,991	\$10,042
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$3,721	\$12,493
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$1,952	\$6,553
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$34,629	\$112,107
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$9 38	\$3,150
			Total for	Bonds	\$9,704,757	\$3,017,908		\$190,395	\$75,709	\$266,104
Funded	By: Ca	pital					denui v		and the authorized substance and comment	
Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Ald:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement
11150	Α	.00	.00	.350000	\$149,667	\$52,383	1	\$52,383	\$0	\$52,383
			Total for C	Capital	\$149,667	\$52,383		\$52,383	\$0	\$52,38
	Total for East Greenwich			\$9,854,424	\$3,070,291		\$242,778	\$75,709	\$318,487	

3/5/2013 4:08:23 PM Report RH0R07_2004

Official FY2013

District: East Greenwich (09)

Funded By:	Bonds
-------------------	-------

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$3,596	\$16,072
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$3,549	\$15,860
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$2,548	\$11,388
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$2,084	\$9,312
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$6,759	\$30,205
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$780	\$2,809
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$9,206	\$33,157
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$2,710	\$9,761
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$3,372	\$12,144
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$1,769	\$6,370
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$32,304	\$109,782
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$850	\$3,062
11294	Α	.00	.00	.400000	\$31,113,568	\$12,445,427	25	\$188,567	\$637,850	\$826,417
11295	Α	.00	.00	.400000	\$8,515,000	\$3,406,000	17	\$378,444	\$69,005	\$447,449
		Total for Bonds		\$49,333,325	\$18,869,335		\$757,406	\$776,382	\$1,533,788	

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
11257	Α	.00	.00	.400000	\$260,681	\$104,272	1	\$104,272	\$0	\$104,272
		Total for Capital			\$260,681	\$104,272		\$104,272	\$0	\$104,272
		Total for	East Gree	enwich	\$49,594,006	\$18,973,607		\$861.678	\$776.382	\$1,638,060

9/9/2013 3:35:10 PM Report RH0R07_2004

Official FY2014

District: East Greenwich (09)

Euro	hah	Rv.	Bonds	
CULR	ueu	DV.	DUING	

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$3,199	\$15,675
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,31 1	\$3,157	\$15,468
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$2,267	\$11,107
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$1,853	\$9,081
10463	A	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$6,012	\$29,458
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$694	\$2,723
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$8,188	\$32,139
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$2,410	\$9,461
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$2,999	\$11,771
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$1,573	\$6,174
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$29,980	\$107,458
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$756	\$2,968
11294	Α	.00	.02	.420000	\$31,113,568	\$13,067,698	25	\$337,326	\$529,656	\$866,982
11295	Α	.00	.00	.400000	\$8,515,000	\$3,406,000	17	\$189,222	\$28,134	\$217,356
11406	Α	.00	.00	.400000	\$493,462	\$197,385	16	\$32,898	\$5,629	\$38,527
			Total for I	Bonds	\$49,826,787	\$19,688,991		\$749,841	\$626.507	\$1,376,348

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:	
11395	Α	.00	.00	.400000	\$228,731	\$91,492	1	\$91,492	\$0	\$91,492	
11396	Α	.00	.04	.440000	\$29,800	\$13,112	1	\$13,112	\$0	\$13,112	
		1	otal for (Capital	\$258,531	\$104,604		\$104,604	\$0	\$104,604	
		Total for	East Gree	enwich	\$50,085,318	\$19,793,595		\$854,445	\$626,507	\$1,480,952	

8/28/2014 8:51:18 AM Report RH0R07_2004 Official FY2015

District: East Greenwich (09)

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$2,780	\$15,256
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$2,743	\$15,054
10348	Α	.00	.00	,300000	\$442,000	\$132,600	15	\$8,840	\$1,970	\$10,810
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$1,611	\$8,839
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$5,225	\$28,671
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$603	\$2,632
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$7,116	\$31,067
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$2,095	\$9,146
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$2,606	\$11,378
10857	A	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$1,367	\$5,968
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$27,656	\$105,134
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$657	\$2,869
11294	Α	.00	.02	.420000	\$31,113,568	\$13,067,698	25	\$348,325	\$519,536	\$867,861
11295	Α	.00	.00	.400000	\$8,515,000	\$3,406,000	17	\$189,222	\$28,134	\$217,356
11406	Α	.00	.00	.400000	\$493,462	\$197,385	16	\$10,9 66	\$1,630	\$12,596
11536	Α	.00	.00	.400000	\$294,113	\$117,645	15	\$26,143	\$4,327	\$30,470
11537	Α	.00	.00	.400000	\$3,419,789	\$1,367,916	23	\$92,499	\$179,937	\$272,436
			Total for	Bonds	\$53,540,689	\$21,174,552		\$857,550	\$789,993	\$1,647,543
Funded	By: Ca	pital								
Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement
11528	Α	.00	.04	.440000	\$15,980	\$7,031	1	\$7,031	\$0	\$7,031
11529	Α	.00	.00	.400000	\$285,687	\$114,275	1	\$114,275	\$0	\$114,275

\$121,306

\$21,295,858

\$121,306

\$978,856

\$0

\$789,993

\$121,306

\$1,768,849

Total for Capital

Total for East Greenwich

\$301,667

\$53,842,356

9/4/2015 3:21:10 PM Report RH0R07_2004 Official FY2016

District: East Greenwich (09)

Fun	ded	Bv:	Bonds
-----	-----	-----	-------

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$2,345	\$14,821
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$2,314	\$14,625
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$1,661	\$10,501
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$1,358	\$8,586
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$4,406	\$27,852
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$508	\$2,537
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$6,002	\$29,953
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$1,767	\$8,818
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$2,198	\$10,970
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$1,153	\$5,754
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$25,331	\$102,809
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$554	\$2,766
11294	Α	.00	.02	.420000	\$31,113,568	\$13,067,698	25	\$359,325	\$509,087	\$868,412
11295	Α	.00	.00	.400000	\$8,515,000	\$3,406,000	17	\$189,222	\$28,134	\$217,356
11406	Α	.00	.00	.400000	\$493,462	\$197,385	16	\$10,966	\$1,630	\$12,596
11536	Α	.00	.00	.400000	\$294,113	\$117,645	15	\$6,536	\$972	\$7,508
11537	Α	.00	.00	.400000	\$3,419,789	\$1,367,916	23	\$37,614	\$53,291	\$90,905
11659	Α	.00	.00	.400000	\$150,000	\$60,000	22	\$5,707	\$10,230	\$15,937
			Total for I	Bonds	\$53,690,689	\$21,234,552		\$799,765	\$652,941	\$1,452,706

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
11634	Α	.00	.00	.400000	\$504,312	\$201,725	1	\$201,725	\$0	\$201,725
11635	Α	.00	.04	.440000	\$397,894	\$175,073	1	\$175,073	\$0	\$175,073
		Total for Capital			\$902,206	\$376,798		\$376,798	\$0	\$376,798
		Total for	East Gree	enwich	\$54,592,895	\$21,611,350		\$1,176,563	\$652,941	\$1,829,504

3/10/2017 1:30:09 PM Report RH0R07_2004 Official FY2017

District: East Greenwich (09)

Fun	ded	Bv:	Bonds

Project Number:	Status:	Reg Bonus:	incent Bonus:	Ratio Used:	Net Cost:	Total Ald:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$1,909	\$14,385
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$1,884	\$14,195
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$1,353	\$10,193
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$1,106	\$8,334
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$3,588	\$27,034
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$414	\$2,443
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$4,887	\$28,838
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$1,439	\$8,490
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$1,790	\$10,562
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$939	\$5,540
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$22,232	\$99,710
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$451	\$2,663
11294	Α	.00	.02	.420000	\$31,113,568	\$13,067,698	25	\$372,158	\$494,713	\$866,871
11295	Α	.00	.00	.400000	\$8,515,000	\$3,406,000	17	\$189,222	\$28,134	\$217,356
11406	Α	.00	.00	.400000	\$493,462	\$197,385	16	\$10,966	\$1,630	\$12,596
11536	Α	.00	.00	.400000	\$294,113	\$117,645	15	\$6,536	\$972	\$7,508
11537	Α	.00	.00	.400000	\$3,419,789	\$1,367,916	23	\$38,957	\$51,786	\$90,743
11659	Α	.00	.00	.400000	\$150,000	\$60,000	22	\$1,709	\$2,272	\$3,981
			Total for	Bonds	\$53,690,689	\$21,234,552		\$809,943	\$621,499	\$1,431,442

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Ald:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
11698	Α	.00	.04	.440000	\$474,271	\$208,679	1	\$208,679	\$0	\$208,679
11699	Α	.00	.04	.440000	\$174,980	\$76,991	1	\$76,991	\$0	\$76, 9 91
11700	Α	.00	.00	.400000	\$124,099	\$49,640	1	\$49,640	\$0	\$49,640
		1	Total for (Capital	\$773,350	\$335,310		\$335,310	\$0	\$335,310
		Total for	East Gree	enwich	\$54,464,039	\$21,569,862		\$1,145,253	\$621,499	\$1,766,752

9/12/2017 1:42:23 PM Report RH0R07_2004 Official FY2018

District: East Greenwich (09)

Funded	Bv:	Bonds
--------	-----	-------

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$1,440	\$13,916
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$1,421	\$13,732
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$1,021	\$9,861
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$834	\$8,062
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$2,707	\$26,153
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$312	\$2,341
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$3,687	\$27,638
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$1,085	\$8,136
10784	Α	.00	.00	.300000	\$584,804	\$175, 4 41	20	\$8,772	\$1,350	\$10,122
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$708	\$5,309
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$19,133	\$96,611
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$341	\$2,553
11294	Α	.00	.02	.420000	\$31,113,568	\$13,067,698	25	\$386,825	\$479,827	\$866,652
11295	Α	.00	.00	.400000	\$8,515,000	\$3,406,000	17	\$189,222	\$28,134	\$217,356
11406	Α	.00	.00	.400000	\$493,462	\$197,385	16	\$10,966	\$1,630	\$12,596
11536	Α	.00	.00	.400000	\$294,113	\$117,645	15	\$6,536	\$972	\$7,508
11537	Α	.00	.00	.400000	\$3,419,789	\$1,367,916	23	\$40,492	\$50,228	\$90,720
11659	Α	.00	.00	.400000	\$150,000	\$60,000	22	\$1,776	\$2,203	\$3,979
		1	otal for E	Bonds	\$53,690,689	\$21,234,552	*	\$826,212	\$597,033	\$1,423,245

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
11879	Α	.00	.00	.400000	\$280,800	\$112,320	1	\$112,320	\$0	\$112,320
		Total for Capital			\$280,800	\$112,320		\$112,320	\$0	\$112,320
Total for East Greenwich			\$53,971,489	\$21,346,872		\$938.532	\$597,033	\$1,535,565		

9/4/2018'10:20:46 AM Report RH0R07_2004

Official FY2019

District: East Greenwich (09)

Funded By: E	onds.
--------------	-------

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Aid:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:
10196	Α	.00	.04	.340000	\$550,404	\$187,137	15	\$12,476	\$1,474	\$13,950
10347	Α	.00	.04	.340000	\$543,122	\$184,661	15	\$12,311	\$1,454	\$13,765
10348	Α	.00	.00	.300000	\$442,000	\$132,600	15	\$8,840	\$1,044	\$9,884
10462	Α	.00	.00	.300000	\$361,378	\$108,413	15	\$7,228	\$563	\$7,791
10463	Α	.00	.04	.340000	\$1,034,404	\$351,697	15	\$23,446	\$1,825	\$25,271
10640	Α	.00	.04	.340000	\$119,361	\$40,583	20	\$2,029	\$211	\$2,240
10641	Α	.00	.00	.300000	\$1,596,742	\$479,023	20	\$23,951	\$2,486	\$26,437
10783	Α	.00	.04	.340000	\$414,734	\$141,010	20	\$7,051	\$732	\$7,783
10784	Α	.00	.00	.300000	\$584,804	\$175,441	20	\$8,772	\$911	\$9,683
10857	Α	.00	.00	.300000	\$306,736	\$92,021	20	\$4,601	\$478	\$5,079
11093	Α	.00	.00	.300000	\$3,603,635	\$1,081,091	14	\$77,478	\$16,809	\$94,287
11094	Α	.00	.00	.300000	\$147,437	\$44,231	20	\$2,212	\$230	\$2,442
11294	Α	.00	.02	.420000	\$31,113,568	\$13,067,698	25	\$403,324	\$464,354	\$867,678
11295	Α	.00	.00	.400000	\$8,515,000	\$3,406,000	17	\$189,222	\$28,134	\$217,356
11406	Α	.00	.00	.400000	\$493,462	\$197,385	16	\$10,966	\$1,630	\$12,596
11536	Α	.00	.00	.400000	\$294,113	\$117,645	15	\$6,536	\$972	\$7,508
11537	Α	.00	.00	.400000	\$3,419,789	\$1,367,916	23	\$42,220	\$48,608	\$90,828
11659	Α	.00	.00	.400000	\$150,000	\$60,000	22	\$1,852	\$2,132	\$3,984
12013	Α	.00	.00	.350000	\$956,643	\$334,825	19	\$61,629	\$0	\$61,629
		Total for Bonds		\$54,647,332	\$21,569,377	,	\$906,144	\$574,047	\$1,480,191	

Project Number:	Status:	Reg Bonus:	Incent Bonus:	Ratio Used:	Net Cost:	Total Ald:	Term:	Construction Entitlement:	Interest Entitlement:	Total Entitlement:	
11962	Α	.00	.00	.350000	\$212,634	\$74,422	1	\$74,422	\$0	\$74,422	
12012	Α	.00	.00	.350000	\$282,816	\$98,986	2	\$49,493	\$0	\$49,493	
		Total for Capital			\$495,450	\$173,408		\$123,915	\$0	\$123,915	
		Total for	East Gree	enwich	\$55,142,782	\$21,742,785		\$1,030,059	\$574,047	\$1,604,106	